
Math 30
Transformation Review

1.
Sketch the graph of the following functions, 

, then analyze them by stating the domain, range, intercepts and asymptotes:

a.
absolute value, 




b.
quadratic, 



c.
cubic, 





d.
square root, 



e.
exponential, 
[image: image123.wmf] 




f.
reciprocal, 


2.
If the functions above were translated to the function 

, state which ones would have a different:


a.
domain





b.
range


c.
x-, y-intercepts
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3.
If 

, state the effect on the domain and range if the transformation is:





Domain


Range
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4. Given 
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 as shown to the right.
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Sketch the graph of 
[image: image6.wmf](

)

(

)

(

)

(

)

1

,,,

yfxyfxfxfx

-

=-=---

.  Two on each.
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)

2

fxx

=

5.
The graph of 

is shown below.  Sketch the graphs of:
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a.






b.
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d.
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[image: image98.wmf] 


[image: image99.wmf] 

e.






f.





6.
Describe the series of transformations that have resulted to the graph of 

if :

a.
x is replaced by 2x and y by 2y.


b.
x is replaced by

,  then y with 

y, then y with 



c.
x is replaced 

and y with 

, then x with 

 and y with 
[image: image8.wmf]1
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7.
Given the following series of transformations, write the equation of the transformed function:


a.


is stretched vertically about the x-axis by a factor of 2 then translated 3 units to the left, and translated 4 units up.

b.

[image: image9.wmf](
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 is stretched  horizontally about the y-axis by a factor of 

, then reflected in the x-axis, and translated 4 units to the left.


c.


 is reflected in the x-axis and translated 3 units to the right.

d.

[image: image10.wmf]2

43

yx

=-

is stretched horizontally about the y-axis by a factor of 2

e.

[image: image11.wmf]2
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 is reflected in the line 
[image: image12.wmf]yx

=

, horizontally stretched by a factor of 3 and then vertically translated 2 units down.
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8. The graph of a function, 
[image: image13.wmf](
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 and its transformed function, 
[image: image14.wmf](
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are shown below.  Find the equation of
[image: image15.wmf](
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.  Presume b = 1

[image: image100.png]
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a. 





b.






[image: image102.wmf] 

c.







9.
The point 

 lies on the graph of 

.  Find the image of P on the transformed graph:

a.




b.



10.
Describe the series of replacements required to transform the graph of the first function to the graph of the second function: 


a.
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b.
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c.

[image: image18.wmf](

)

(

)

416 to 213

yxyx

=++=-+



page 6

Math 30
Transformation Review
11.
The graph of 
[image: image19.wmf](
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 undergoes a series of transformations.  What is the resulting equation if the point 
[image: image20.wmf](
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xy

 is changed to 
[image: image21.wmf](
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12.
Draw the reciprocal for the graph given below, labeling all the critical points and asymptotes.
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13.
The graph of 

is shown below.  Sketch the graph of 
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14.
The point 

lies on the graph of 

.  Find the point on the following 
transformations.:

a.



b.
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15.
Explain what happens to the x-intercepts of 
[image: image24.wmf](
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 when the graph of 
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is sketched.
[image: image109.png]



16.
The graph of 
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is shown below:


a.
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is vertically stretched about the



line 
[image: image29.wmf]1
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 by a factor of 2.



Determine the coordinates of the



vertex of 
[image: image30.wmf](
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b.
Determine the 
[image: image31.wmf]intercept
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 of 
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from 
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, the y-intercept on 
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c.
Give the invariant points for 
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d.
Determine the equation of 
[image: image36.wmf](
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 and write the equation in 



the form of 
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17.
The point 
[image: image38.wmf](
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P

is on the graph of 
[image: image39.wmf](
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.  The graph is stretched horizontally about the line 
[image: image40.wmf]2 by a factor of 2.

x
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  The x-coordinate of the translated point P is ________.

18.
A transformed graph, g of a graph f is shown below.  Describe two different ways of transforming the graph f to graph g.

[image: image110.wmf] 


[image: image111.wmf] 

19.
If the graph of f is transformed into 
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, complete the following table of values for 
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	x
	y

	0
	

	1
	

	
	2

	
	4
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ANSWER KEY

[image: image112.png]15

10

3 iz -n

Ef

=

10




[image: image113.png]15

10

10

QRT()

10

15

B

25



1.
a.
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[image: image48.wmf]0,;0,; no intercepts

xxRyyR

¹Î¹Î


[image: image116.png]


[image: image117.wmf] 




[image: image49.wmf]0 is the horizontal asymptote
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2.
a.
d, f

b.
a, b, d, e, f

c.
all
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3.
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4.
a.





b.
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Endpoints are:

5.
a.
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6.
a.
stretched vertically about the x-axis by a factor of 
[image: image61.wmf]1

2

, and stretched horizontally about the y-axis by a factor of 
[image: image62.wmf]1
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b. reflected horizontally, stretched horizontally about the y-axis by a factor of 
[image: image63.wmf]1

3

, then stretched vertically about x-axis by a factor of 2, and then vertically translated 4 units up.


c.
horizontally stretched about the y-axis by a factor of 2 then stretched vertically about the x-axis by a factor of 3 then horizontally translated by 2 units left, and vertically translated 1 unit down.

7.
a.
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a.

[image: image69.wmf](

)

(

)

32

gxx

=-+




b.

[image: image70.wmf](

)

(

)

242

gxx

=++


c

[image: image71.wmf](

)

(

)

2

223

gxx

=-++







9.
a.
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10.
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[image: image122.wmf] 


12.
Asymptotes are at 
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13.


a.
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14.
a.
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15.
The x-intercepts of 
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16.
a.
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